Chapter- 19

Money

WORKSHEET
A. FILL IN THE BLANKS :
1.%897.91=_R9791  paise
2.786541 paise=X_JQ65 Y4 .

3. % 36000 were equally distributed among 12 people. Each gets X __ J00O .

4. For charity 25 people contributed % 800 each. The total amount collected is ¥ 3000 .
5. 23 notes of X100 amount=%_2300 .
B. CHOOSE THE CORRECT ANSWER :
6. The number of 25 paise coins in T100is __ HO0 .
a) 4 b) 40 c) 100 ‘d’IZOO

7. The number of 50 rupees notes in X 1000 is QOO

a) 10 b) 20 ¢) 100 df 200
8. How many 100 rupee notes make a sum of X 1 lakh ?
a) 10 b) 100 c) 500 %OO
9. A ball costs % 23.50. The cost of 1 dozen such balls is X Q\S e
a) X262 b) X 235 c)X292 \d{i 282
10. A man X 23567 as h s bank balance. He withdrew X 4000 from an ATM. Now his bank balance is :
e
% 19567 b) 27567 c) 18567 d) X 20567

C. DO AS DIRECTED:

11. Subtract : ?éS 50 from X 900

'5 378 50
52050

ODM Educational Group Page 1

[ MONEY | MATHEMATICSS | CLASS - V




[V AME | MATHEMATICSS | CLASS - V

12. Multiply : X 687.75 x 35

368778
3 9 38 gi— :?1317/'&5
{ 8 9
[ Dlw?‘:‘i 9% % : 2‘LO
40-99
Hl’ &450‘80
—ig = 40-90

O%
14. A torch costs X 65.80. A set of batteries costs X 16.50. How, much does it cost to buy 2 of each?

the foch= 3265-80 costef es = F/6-50
gg;ffff& Yo oech = }Z*bi SoxQ | Costo ‘9\5€i Qerer“?S‘ [6-50 x
= 33[-€0 =3 33-00
= | \3 { <60 — S
15. Casestqdy: Total ot +} 00 l€4-60

€ -
When you buy something, the shopkeeper gives you a bill. A complete bill should have the name of the
shop or store, date, bill number and the correct items, quantities and amounts.

Mrs Mehta went for shopping. Here is her bill.

BILL Date : 10-01-22
‘ ABC Limited Bill No..8724
| N | S.No. | lfems. iIB Quantity . Amount |
1L Water bottle 1 2240
2 Tiffin box 1 X25.60
8t School bag 1 X 85.90
4. Pencil box 1 X20.50
Total

Find the total amount she has to pay. (Rd (5%30

e D

£ . § v

If, she paid, 5 et I . )

Find the balance amount she received. ﬂB S H S 7g )
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